44 Resource Mgmt N Consumer Science ICAR SEPT 2022

Topic:- GEN KNOW COMMON PHD

1) Colour of the tag used on certified seed bags is[Question ID = 16958][Question Description = 101_221_GKD_SEP22_Q01]
Blue [Option ID = 37829]

Purple [Option ID = 37830]

White [Option ID = 37831]

Golden Yellow [Option ID = 37832]

A w N =

2) Following are the statements regarding the Usar soil -
A. It is reclaimed by adding lime.

B. This soil has pH more than seven.

C. Paddy crop can be grown in this soil.

Choose the correct answer from the options given below:

[Question ID = 16959][Question Description = 102_221_GKD_SEP22_Q02]
A and B only [Option ID = 37833]

B and C only [Option ID = 37834]

C only [Option ID = 37835]

A only [Option ID = 37836]

A w N =

3) When total utility of a commodity increases, marginal utility will be

[Question ID = 16960][Question Description = 103_221_GKD_SEP22_Q03]
1. Negative but increasing

[Option ID = 37837]

2. Positive but decreasing
[Option ID = 37838]

3. Constant

[Option ID = 37839]
4. Either positive or negative

[Option ID = 37840]

4) Where is the headquarter of International Fund for Agriculture Development located?

[Question ID = 16961][Question Description = 104_221_GKD_SEP22_Q04]
1. Vienna, Austria

[Option ID = 37841]
2. Rome, ltaly

[Option ID = 37842]
3. New York, USA

[Option ID = 37843]
4. Berlin, Germany

[Option ID = 37844]

5) Mid-Oceanic Ridges are one of the important divisions of the ocean floor. In this respect, point out the incorrect
statement regarding the ‘Mid-Oceanic Ridges’.[Question ID = 16962][Question Description = 105_221_GKD_SEP22_QO05]
1. It is the largest mountain chain on the surface of the earth [Option ID = 37845]

2. Itis a series of interconnected chain within the ocean. [Option ID = 37846]

3. It is characterised by a central rift system [Option ID = 37847]

4. The rift system at the crest is the zone of very low volcanic activity. [Option ID = 37848]

6) Consider the following facts about the union territory of India and point out the one which is incorrect in relation to
union territory.[Question ID = 16963][Question Description = 106_221_GKD_SEP22_Q06]

1. These are the areas under the direct control of central government. [Option ID = 37849]

2. Also known as the ‘centrally administered territories. [Option ID = 37850]



3. These territories constitute a conspicuous departure from the unitary feature of India. [Option ID = 37851]
4. There is no uniformity in their administrative systems. [Option ID = 37852]

7) Variety of flora and fauna are found in the different types of forest in India. In this regard, species of trees like teak, sal
shisham, sandalwood, etc. are found in which of the following type of forests in India?[Question ID = 16964][Question
Description = 107_221_GKD_SEP22_Q07]

. Tropical evergreen forests [Option ID = 37853]

. Tropical thorn forests [Option ID = 37854]

. Tropical deciduous forests [Option ID = 37855]

. Montane forests [Option ID = 37856]

A w N =

8) The Marginal Preference Theory of consumption behaviour was proposed by

[Question ID = 16965][Question Description = 108_221_GKD_SEP22_Q08]
1. Armstrong

[Option ID = 37857]
2. J.K.Hicks

[Option ID = 37858]
3. Neumann

[Option ID = 37859]
4. Edmund Cannon

[Option ID = 37860]

9) Point out the incorrect statements regarding the service sector in India.[Question ID = 16966][Question Description =
109_221_GKD_SEP22_Q09]

It is the highest contributor to GDP [Option ID = 37861]

It requires skilled labour [Option ID = 37862]

It is the fastest growing sector [Option ID = 37863]

It is restricted to very few sectors. [Option ID = 37864]

A WN -

10) Consider the statements regarding the agriculture sector in India and point out the incorrect statement.[Question ID =
16967][Question Description = 110_221_GKD_SEP22_Q10]

. Agriculture sector is the largest employer of workforce [Option ID = 37865]

. It has contributed to the Gross Value Added (GVA) [Option ID = 37866]

. Growth in allied sectors is the major drivers of overall growth in the sector. [Option ID = 37867]

. Minimum Support Price (MSP) policy is used as to promote crop uniformity. [Option ID = 37868]

A w N -

11) In case of related goods, the cross elasticity of demand is[Question ID = 16968][Question Description =

111_221_GKD_SEP22_Q11]
Low [Option ID = 37869]

High [Option ID = 37870]

Zero [Option ID = 37871]

Unity [Option ID = 37872]

A W N -

12) With reference to organic farming in India, consider the following statements :

A. The National Programme for Organic Production' (NPOP) is operated under the guidelines and directions of the Union
Ministry of Rural Development.

B. The Agricultural and Processed Food Products Export Development Authority’ (APEDA) functions as the Secreatariat for
the implementation of NPOP.

C. Sikkim has become India’s first fully organic state.
Choose the correct answer from the options given below:

[Question ID = 16969][Question Description = 112_221_GKD_SEP22_Q12]
1. Aand B only

[Option ID = 37873]
2. BandConly

[Option ID = 37874]
3. Conly

[Option ID = 37875]
4. A,BandC



[Option ID = 37876]
13) With reference to the circumstances in Indian agriculture, the concept of "Conservation Agriculture” assumes
significance. Which of the following falls under the Conservation Agriculture ?
A. Avoiding the monoculture practices.
B. Adopting minimum tillage.
C. Avoiding the cultivation of plantation crops.
D. Using crop residues to cover soil surface.
E. Adopting spatial and temporal crop sequencing/ crop rotations.
Choose the correct answer from the options given below:

[Question ID = 16970][Question Description = 113_221_GKD_SEP22_Q13]
A, C and D only [Option ID = 37877]

B, C, D and E only [Option ID = 37878]

B, D and E only [Option ID = 37879]

A, B, C and E only [Option ID = 37880]

A w N =

14) Consumers are likely to get a variety of goods in which kind of market competition[Question ID = 16971][Question

Description = 114_221_GKD_SEP22_Q14]
Monopoly [Option ID = 37881]

Duopoly [Option ID = 37882]

Oligopoly [Option ID = 37883]

Monopolistic [Option ID = 37884]

A W N -

15) What is the correct chronological order of the following laws enacted for the conservation and protection of
environment ?

A. Environment (Protection) Act.

B. Water (Prevention & Control of Pollution) Act.

C. Air (Prevention & Control of pollution) Act.

D. National Green Tribunal Act.

Choose the correct answer from the options given below:

[Question ID = 16972][Question Description = 115_221_GKD_SEP22_Q15]
B, C, A, D [Option ID = 37885]
A, B, C, D [Option ID = 37886]
C, B, A, D [Option ID = 37887]
D, C, B, A [Option ID = 37888]

AN wN -

16) The scientific study of soil is[Question ID = 16973][Question Description = 116_221_GKD_SEP22_Q16]
1. Earth Study [Option ID = 37889]

2. Soil Science [Option ID = 37890]

3. Pedology [Option ID = 37891]

4. Soil Chemistry [Option ID = 37892]

17) Triticum aestivum, the common bread wheat is -

[Question ID = 16974][Question Description = 117_221_GKD_SEP22_Q17]
1. Tetraploid

[Option ID = 37893]
2. Hexaploid

[Option ID = 37894]
3. Haploid

[Option ID = 37895]
4. Diploid

[Option ID = 37896]

18) Sectoral inflation refers to[Question ID = 16975][Question Description = 118_221_GKD_SEP22_Q18]
1. Running inflation [Option ID = 37897]



2. Comprehensive inflation [Option ID = 37898]
3. Sporadic inflation [Option ID = 37899]
4. Creeping inflation [Option ID = 37900]

19) Keynes Liquidity trap refers to[Question ID = 16976][Question Description = 119_221_GKD_SEP22_Q19]
Speculative demand for money [Option ID = 37901]

Transactions motive of money is inelastic [Option ID = 37902]

Precautionary motive f money is inelastic [Option ID = 37903]

Transactions motive of money is constant [Option ID = 37904]

A wWw N =

20) A business is solvent if[Question ID = 16977][Question Description = 120_221_GKD_SEP22_Q20]
Total receipts exceed total expenditures [Option ID = 37905]

Total debt exceeds total equity [Option ID = 37906]

Total sales exceed total cash expense [Option ID = 37907]

Total assets exceed total liabilities [Option ID = 37908]

A W N -

Topic:- Community Science_PHD

1) The most efficient material in terms of easy care and maintenance is:

[Question ID = 5051][Question Description = 101_114_BHS_SEP22_Q01]
1. PVC
[Option ID = 20201]
2. Brass
[Option ID = 20202]
3. Stainless steel
[Option ID = 20203]
4. Aluminium [Option ID = 20204]

2) The city of Chandigarh was designed by:

[Question ID = 5052][Question Description = 102_114_BHS_SEP22_Q02]
1. Edward Luteyen
[Option ID = 20205]
2. Walter George
[Option ID = 20206]
3. Le Corbusier
[Option ID = 20207]
4. Joseph Stein [Option ID = 20208]

3) The most effective method for lifting loads from the lower level is:

[Question ID = 5053][Question Description = 103_114_BHS_SEP22_Q03]
1. Derrick action [Option ID = 20209]
2. Forearm action [Option ID = 20210]
3. Knee action
[Option ID = 20211]
4. Upper arm action [Option ID = 20212]

4) RFID in retailing is used for

[Question ID = 5054][Question Description = 104_114_BHS_SEP22_Q04]
data inventory [Option ID = 20213]

security [Option ID = 20214]

personnel management [Option ID = 20215]

marketing [Option ID = 20216]

A wWw N =

5) A brand or part of a brand that is given legal protection because it is capable of exclusive appropriation, is defined as:

[Question ID = 5055][Question Description = 105_114_BHS_SEP22_Q05]
1. Brand Name
[Option ID = 20217]
2. Certification Mark
[Option ID = 20218]
3. Trade Mark
[Option ID = 20219]
4. Batch Number [Option ID = 20220]

6) Which one of the following chemicals is used to test presence of starch in milk?



[Question ID = 5056][Question Description = 106_114_BHS_SEP22_Q06]
1. Sulphuric acid
[Option ID = 20221]
2. lodine
[Option ID = 20222]
3. Hydrochloric acid
[Option ID = 20223]
4. Carbon tetrachloride [Option ID = 20224]

7) The principles of Body Mechanics include:

A. Taking advantage of the momentum

B. Using muscles effectively

C. Considering the centre of gravity

D. Analytical approach to a job

E. Application of time and energy efficiency

Choose the correct answer from the options given below:

[Question ID = 5057][Question Description = 107_114_BHS_SEP22_Q07]
A, B and D only [Option ID = 20225]
A, B and C only [Option ID = 20226]
B, D and E only [Option ID = 20227]
C, D and E only [Option ID = 20228]

A W N -

8) Which of the following serve as a basis for classifying standards?
A. Space

B. Measurability

C. Content

D. Degree of flexibility

E. Time

Choose the correct answer from the options given below:

[Question ID = 5058][Question Description = 108_114_BHS_SEP22_Q08]
A, B and D only [Option ID = 20229]
B, C and E only [Option ID = 20230]
B, C and D only [Option ID = 20231]
A. D and E only [Option ID = 20232]

A W N -

9) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : General fatigue occurs due to the stress when performing tedious and boring activities that lead to personal
dissatisfaction.

Reason R : Strenuous and disliked activities lead to fatigue and stress due to dissatisfaction from work.
In light of the above statements, choose the correct answer from the options given below

[Question ID = 5059][Question Description = 109_114_BHS_SEP22_Q09]
1. Both A and R are correct and R is the correct explanation of A [Option ID = 20233]

2. Both A and R are true but R is NOT the correct explanation of A [Option ID = 20234]
3. Ais true but R is false [Option ID = 20235]

4. Ais false but R is true [Option ID = 20236]

10) Match List | with List Il

List | List Il

Types of Events Examples of Events

A. Religious events |. Olympics, World cup
B. Family events Il. Seminar, workshops
C. Educational events [lll. Diwali fair, katha

D. Sports events IV. New product launch|




| |V Birthdays, Weddings
Choose the correct answer from the options given below:

[Question ID = 5060][Question Description = 110_114_BHS_SEP22_Q10]
A-1V,B-1ll,C-1l,D-I[Option ID = 20237]
A-1l,B-V,C-1l,D-I[Option ID = 20238]
A-1ll,B-1V,C-1,D- Il [Option ID = 20239]
A-1,B-1V,C-1l,D- lll [Option ID = 20240]

A w N =

11) Which of the following is a centerless thread package used in multineedle Quilting machine?[Question ID = 5061]
[Question Description = 111_114_BHS_SEP22_Q11]
1. Spools [Option ID = 20241]
2. Cops [Option ID = 20242]
3. Cones [Option ID = 20243]
4. Cacoons [Option ID = 20244]

12) Which one of the following is a process for setting the luster on wool, silk and spun silk?

[Question ID = 5062][Question Description = 112_114_BHS_SEP22_Q12]
Decating [Option ID = 20245]

Creping [Option ID = 20246]

Carbonizing [Option ID = 20247]

Burling [Option ID = 20248]

AW N =

13) Which one of the following is the embroidered piece used to wrap brides trousseau?

[Question ID = 5063][Question Description = 113_114_BHS_SEP22_Q13]
Alpona [Option ID = 20249]

Chokla [Option ID = 20250]

Kanbi [Option ID = 20251]

Nakatu [Option ID = 20252]

A w N =

14) Which one of the following is a precipitating type of water softener?

[Question ID = 5064][Question Description = 114_114_BHS_SEP22_Q14]
1. Borateem [Option ID = 20253]

2. Calgon [Option ID = 20254]

3. Oakite [Option ID = 20255]

4. Axion [Option ID = 20256]

15) Percale is a fabric suitable for making:[Question ID = 5065][Question Description = 115_114_BHS_SEP22_Q15]
1. Dish cloth [Option ID = 20257]
2. Curtains [Option ID = 20258]
3. Bedsheets [Option ID = 20259]
4. Floor mats [Option ID = 20260]

16) In European women’s costume, Paniers referred to:[Question ID = 5066][Question Description =
116_114_BHS_SEP22_Q16]

Whale bone cages worn to support the fullness of skirt at the back. [Option ID = 20261]

Whale bone bands stitched into petticoats giving A-line shape to skirts [Option ID = 20262]

Light weight flexible metal cages giving bell shape to skirts. [Option ID = 20263]

Whale bone cages extending sideways at hips, making front and back appear flat. [Option ID = 20264]

A W N =

17) The following features add to the quality of terry cloth:
A. Each loop should be 1/8th inch deep.

B. Ground work should be of twill weave.

C. Weave should be loose with balanced count.

D. Ground warps should be of single yarns.

E. Double thread mehod is used.

Choose the correct answer from the options given below:

[Question ID = 5067][Question Description = 117_114_BHS_SEP22_Q17]
1. A, B and C only [Option ID = 20265]
2. A, B and E only [Option ID = 20266]



3. B, D and E only [Option ID = 20267]
4. C, D and E only [Option ID = 20268]

18) Match List | with List Il

List | List Il

Defects Description

A. Strike back I. Resins used liquify and run together to form a resin coating instead of being retained in a dotted
manner

B. Strike
Il. Interlining gets puckered

through ggetsp

C. Bubbling 11l. Resin gets stuck to the fusing press or conveyer

D. Boardiness |IV. Penetration of resin to the face of the shell fabric

Choose the correct answer from the options given below:

[Question ID = 5068][Question Description = 118_114_BHS_SEP22_Q18]
A-1ll,B-1V,C-1l,D-1[Option ID = 20269]
A-1I,B -1V, C-1,D- Il [Option ID = 20270]
A-1l,B-1,C-1ll,D-1V[Option ID = 20271]
A-1ll,B-1,C-Il,D-IV[Option ID = 20272]

A wWw N =

19) Given below are two statements

Statement I: Counterfeiting and knock off are same.

Statement Il: Both are acts of making an imitation of an orignal with the intent to defraud.

In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = 5069][Question Description = 119_114_BHS_SEP22_Q19]
Both Statement | and Statement Il are correct [Option ID = 20273]

Both Statement | and Statement Il are incorrect [Option ID = 20274]

Statement | is correct but Statement Il is incorrect [Option ID = 20275]

Statement | is incorrect but Statement Il is correct [Option ID = 20276]

A w N =

20) Given below are two statements

Statement I: For a nap up and down marker, pattern pieces of one size are placed in one direction and all the pieces of
another size in the other direction.

Statement Il It ensures that patterns of different sizes are cut on the correct nap.

In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = 5070][Question Description = 120_114_BHS_SEP22_Q20]
Both Statement | and Statement Il are correct [Option ID = 20277]

Both Statement | and Statement Il are incorrect [Option ID = 20278]

Statement | is correct but Statement Il is incorrect [Option ID = 20279]

Statement | is incorrect but Statement Il is correct [Option ID = 20280]

A W N -

21) Seema likes to mimic her parents cooking dinner by playing with pots and pans and pretending to cook. According to
Piaget's theory of Cognitive Development, it is referred to as:

[Question ID = 5071][Question Description = 121_114_BHS_SEP22_Q21]
. Adult games [Option ID = 20281]

Deferred imitation [Option ID = 20282]

. Associative play [Option ID = 20283]

. Conservation [Option ID = 20284]

AN wN -

22) The written description of a culture that is documented by researchers, is called:

[Question ID = 5072][Question Description = 122_114_BHS_SEP22_Q22]
Indography [Option ID = 20285]

Ethnicity [Option ID = 20286]

Ethnocide [Option ID = 20287]

Ethnography [Option ID = 20288]

A w N =

23) Which of the following would be the most appropriate practice for a parent explaining something to an adolescent?
[Question ID = 5073][Question Description = 123_114_BHS_SEP22_Q23]



Discussing and listening [Option ID = 20289]

Scolding and rebuking [Option ID = 20290]

Comparing with others of his/her age [Option ID = 20291]
Giving instructions politely [Option ID = 20292]

A W N -

24) The ‘Protection of Children against Sexual Offences Act’ was enacted in:[Question ID = 5074][Question Description =

124_114_BHS_SEP22_Q24]
2012 [Option ID = 20293]
1986 [Option ID = 20294]
2009 [Option ID = 20295]
1995 [Option ID = 20296]

AN wN -

25) The teacher says that boys should play with blocks and toy cars and girls should play with dolls. S/he is exhibiting:
[Question ID = 5075][Question Description = 125_114_BHS_SEP22_Q25]

Gender stigma [Option ID = 20297]

Gender stereotypes [Option ID = 20298]

Racial discrimination [Option ID = 20299]

Gender constancy [Option ID = 20300]

A W N -

26) In the area of Specific Learning Disabilities, the name for inability to understand meaning of numbers is called?

[Question ID = 5076][Question Description = 126_114_BHS_SEP22_Q26]
Dyspraxia [Option ID = 20301]

Dyslexia [Option ID = 20302]

Dyscalculia [Option ID = 20303]

. Dysphasia [Option ID = 20304]

A WN -

27) John Locke proposed the philosophy regarding a child as being:
A. Tabula rasa

B. Basically evil

C. Shaped by all kind of experiences

D. Refuted the idea of innate knowledge

Choose the correct answer from the options given below:

[Question ID = 5077][Question Description = 127_114_BHS_SEP22_Q27]
A, B and D only [Option ID = 20305]
A, B and C only [Option ID = 20306]
B, C and D only [Option ID = 20307]
A, C and D only [Option ID = 20308]

A WN -

28) Which of the activities promote fine motor skills in children?
A. Jumping and dancing

B. Threading beads

C. Cutting and pasting

D. Drawing and colouring

Choose the correct answer from the options given below:

[Question ID = 5078][Question Description = 128_114_BHS_SEP22_Q28]
A, B and D only [Option ID = 20309]
A, B and C only [Option ID = 20310]
B, C and D only [Option ID = 20311]
A, C and D only [Option ID = 20312]

A WN -

29) Match List | with List Il

List | List Il

iAge Group IMotor milestones achieved

A. 3 weeks-4 months |l. Rolls from back to side

B. 2-7 months Il. When held upright holds head erect and steady
C. 5-12 months lll. Ties shoe laces

D. 12-23 months IV. Pulls to standing position




| |V Walks upstairs with help
Choose the correct answer from the options given below:

[Question ID = 5079][Question Description = 129_114_BHS_SEP22_Q29]
A-1,B-1l,C-V,D-IV[Option ID = 20313]
A-11,B-1,C-1V,D-V[Option ID = 20314]

A-1l,B-1,C-1V,D-lll[Option ID = 20315]

A-1I,B-1,C-1ll, D -V [Option ID = 20316]

A w N =

30) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : When pre-schoolers are not cared for by their parents they develop Down Syndrome

Reason R: Caring for children leads to a greater sense of well-being and this prevents onset of Down Syndrome
In light of the above statements, choose the correct answer from the options given below

[Questlon ID = 5080][Question Description = 130_114_BHS_SEP22_Q30]
Both A and R are true and R is the correct explanation of A [Option ID = 20317]

. Both A and R are true but R is NOT the correct explanation of A [Option ID = 20318]

. Both A and R are false [Option ID = 20319]

. Ais false but R is true [Option ID = 20320]

AWN—\

31) Dextrins are formed:[Question ID = 5081][Question Description = 131_114_BHS_SEP22_Q31]
. on the base of utensil when milk is heated [Option ID = 20321]

. when sugar caramelized to make peanut brittles [Option ID = 20322]

. while making brown bread [Option ID = 20323]

. while toasting of bread [Option ID = 20324]

AN wnN -

32) Which one of the following is NOT a misleading health claims exhibited by manufacturer?

[Question ID = 5082][Question Description = 132_114_BHS_SEP22_Q32]
1. "Cholesterol free" on a packet of vegetable oil [Option ID = 20325]

2. Flavanoids are "good for health” on a packet of tea [Option ID = 20326]

3. "Sugar free" (less than 0.5g sugar) on a packet of sweets [Option ID = 20327]

4. Processed food Z "Good for Health" [Option ID = 20328]

33) Which of the following statement is wrong in the context of conserving nutrients?[Question ID = 5083][Question

Description = 133_114_BHS_SEP22_Q33]

. Vegetables should be peeled, cut and washed thoroughly before cooking [Option ID = 20329]

. Finer the cut of vegetables, fruits greater is the loss of nutrients while cooking [Option ID = 20330]

. Avoid removing edible peels of fruit and vegetables [Option ID = 20331]

. Storing chopped vegetables/fruits at refrigerated temperature, causes loss of nutrients [Option ID = 20332]

A W N -

34) Some nutrients are bound to certain substances present in the food as a result, these nutrients are not available to the
human body. This is known as:[Question ID = 5084][Question Description = 134_114_BHS_SEP22_Q34]
1. Enrichment
[Option ID = 20333]
2. Denaturation [Option ID = 20334]
Bioavailability [Option ID = 20335]
4. Enhancement [Option ID = 20336]

w

35) Adulteration of mustard oil with argemone oil leads to:[Question ID = 5085][Question Description =

135_114_BHS_SEP22_Q35]

1. Lathyrism [Option ID = 20337]

2. Anaemia [Option ID = 20338]

3. Blindness [Option ID = 20339]

4. Epidemic dropsy [Option ID = 20340]

36) The fatty acids which CANNOT be synthesized by the body, are referred to as fatty acids

[Question ID = 5086][Question Description = 136_114_BHS_SEP22_Q36]
Saturated [Option ID = 20341]

Unsaturated [Option ID = 20342]

Essential [Option ID = 20343]

Non Essential [Option ID = 20344]

A w N =

37) Which of the following vegetable oils are rich in n-3 fatty acids?



A. Mustard

B. Sunflower

C. Soyabean

D. Flaxseed

E. Groundnut

Choose the correct answer from the options given below:

[Question ID = 5087][Question Description = 137_114_BHS_SEP22_Q37]
A, B and E only [Option ID = 20345]
B, C and D only [Option ID = 20346]
C, D and E only [Option ID = 20347]
A, C and D only [Option ID = 20348]

A w N =

38) Rich dieary sources of riboflavin include:

A. Green leafy vegetables

B. Whole grain cereals

C. Nuts and Oilseeds

D. Organ meat (Liver, kidney, heart)

E. Milk

Choose the correct answer from the options given below:

[Question ID = 5088][Question Description = 138_114_BHS_SEP22_Q38]
A, D and E only [Option ID = 20349]
B, C and E only [Option ID = 20350]
A, C and D only [Option ID = 20351]
B, C and D only [Option ID = 20352]

A w N =

39) Match List | with List Il

List | List Il
Phytochemicals Food Sources
A. Allicin I. Oat flour, barley rye
B. Curcumin Il. Cucumber
C. Beta glucan lll. Flaxseed
D. Lignan IV. Tumeric
V. Garlic, onion, chives|

Choose the correct answer from the options given below:

[Question ID = 5089][Question Description = 139_114_BHS_SEP22_Q39]
A-1l,B-1V,C-Ill,D-V[Option ID = 20353]

A-Ill,B-V,C-1V,D-Il[Option ID = 20354]

A-V,B-1IV,C-1,D-Illl [Option ID = 20355]

A-IV,B-1ll,C-V,D-I[Option ID = 20356]

A w N =

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The principle of organic farming has been applied for the development of golden rice

Reason R : Golden rice is a transgenic variety of rice intended to supply Vitamin A to prevent blindness
In light of the above statements, choose the correct answer from the options given below

[Question ID = 5090][Question Description = 140_114_BHS_SEP22_Q40]
Both A and R are true and R is the correct explanation of A [Option ID = 20357]

Both A and R are true but R is NOT the correct explanation of A [Option ID = 20358]
A is true but R is false [Option ID = 20359]

A is false but R is true [Option ID = 20360]
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41) The concept in mass communication that "Medium is the Message" was proposed by -

[Question ID = 5091][Question Description = 141_114_BHS_SEP22_Q41]
1. Aristotle [Option ID = 20361]
2. Riley [Option ID = 20362]



3. Thompson [Option ID = 20363]
4. McLuhan [Option ID = 20364]

42) The literacy rate of women in the country ar per the 2011 Census was about-[Question ID = 5092][Question Description
=142_114_BHS_SEP22_Q42]

1. 55% [Option ID = 20365]

2. 60% [Option ID = 20366]

3. 65% [Option ID = 20367]

4. 70% [Option ID = 20368]

43) NSIFS is being promoted for enhancing food security, by extension systems NSIFS means:

[Question ID = 5093][Question Description = 143_114_BHS_SEP22_Q43]
1. National Statistics Integrated Farming Study [Option ID = 20369]

2. National Scheme In Farming Systems [Option ID = 20370]

3. Nutrition Strengthening In Fortified Seeds [Option ID = 20371]

4. Nutri Sensitive Integrated Farming System [Option ID = 20372]

44) Andragogy is the science of teaching-[Question ID = 5094][Question Description = 144_114_BHS_SEP22_Q44]
1. Urban clientele [Option ID = 20373]

2. Rural Clientele [Option ID = 20374]

3. Adolescents [Option ID = 20375]

4. Adults [Option ID = 20376]

45) Proxemics in the field of Non-verbal communication is about the role of which of the following factors?

[Question ID = 5095][Question Description = 145_114_BHS_SEP22_Q45]
1. Time [Option ID = 20377]

2. Distance [Option ID = 20378]

3. Speed [Option ID = 20379]

4. Volume [Option ID = 20380]

46) Udyam Sakhi portal for women entrepreneus has been launched by-[Question ID = 5096][Question Description =
146_114_BHS_SEP22_Q46]

1. Ministery of Women and Child Development [Option ID = 20381]

2. Skill India Programme [Option ID = 20382]

3. Ministry of MSME [Option ID = 20383]

4. Ministry of Finance [Option ID = 20384]

47) The perceived characteristics of innovations to be adopted are-
A. Relationship

B. Simplicity

C. Relative advantage

D. Control

E. Triability

Choose the correct answer from the options given below:

[Question ID = 5097][Question Description = 147_114_BHS_SEP22_Q47]
A, B and D only [Option ID = 20385]
A, Band E only [Option ID = 20386]
B, C and D only [Option ID = 20387]
B, C and E only [Option ID = 20388]
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48) Which of the following are true about implementation of ICTs in agricultural development-
A. Difficulty in localisation of content

B. Unavailability of actual results of initiatives already taken

C. Availability of specific information

D. Free flow of Information between farmers and implementers

E. Smooth coordination between implementing agencies



Choose the correct answer from the options given below:

[Questlon ID = 5098][Question Description = 148_114_BHS_SEP22_Q48]
A and B only [Option ID = 20389]
B and C only [Option ID = 20390]
. Cand D only [Option ID = 20391]
. D and E only [Option ID = 20392]
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49) Match List | with List I

List | List Il
Function of Communication Example
A. Information I. Director's notice for the students to pay fee by the given date|
B. Instruction Il.Date of demonstration for Demonstration
C. Influence lll. Sharing benefits after result demonstation
D. Integration IV. Invitation to attend an event
V. Organisation of a community event

Choose the correct answer from the options given below:

[Question ID = 5099][Question Description = 149_114_BHS_SEP22_Q49]
. A-l,B-lll,C-IV,D-V [Option ID = 20393]
. A-ll,B-1,C-Ill,D-V[Option ID = 20394]
. A-1lll,B-1l,C-l,D-IV[Option ID = 20395]
. A-IV,B-V,C-l,D-Il[Option ID = 20396]
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50) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : PURA strategy for rural development was proposed by Shri AB Vajpayee.

Reason R : PURA proposed urban infrastructure and services to be provided in rural areas to create opportunities outside
the cities.

In light of the above statements, choose the correct answer from the options given below

[Question ID = 5100][Question Description = 150_114_BHS_SEP22_Q50]
. Both A and R are true and R is the correct explanation of A [Option ID = 20397]

Both A and R are true but R is NOT the correct explanation of A [Option ID = 20398]

. Ais true but R is false [Option ID = 20399]

. Ais false but R is true [Option ID = 20400]
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Topic:- 44 Resource Management and Consumer Science_PHD

1) The process of encapsulating a building with steel beams or girders in earthquake resistant structures, is called:

[Question ID = 5101][Question Description = 101_117_FRM_SEP22_Q01]
1. Plastering
[Option ID = 20401]
2. Retrofitting
[Option ID = 20402]
3. Pointing
[Option ID = 20403]
4. Binding [Option ID = 20404]

2) Following material is most appropriate for false ceiling:
[Question ID = 5102][Question Description = 102_117_FRM_SEP22_Q02]

1. Reinforced cement concrete

[Option ID = 20405]
2. Asbestos cement sheet

[Option ID = 20406]
3. Plywood

[Option ID = 20407]
4. Polyvinyl chloride sheet

[Option ID = 20408]

3) Verdigris is formation of a:



[Questlon ID = 5103][Question Description = 103_117_FRM_SEP22_Q03]
Brown film on brass [Option ID = 20409]

Green film on brass [Option ID = 20410]

Black film on tin [Option ID = 20411]

Brown film on copper [Option ID = 20412]

AWN—\

4) Unit of measurement of noise is:

[Question ID = 5104][Question Description = 104_117_FRM_SEP22_Q04]
1. Lumen
[Option ID = 20413]
2. Decibels
[Option ID = 20414]
3. Micro cubic
[Option ID = 20415]
4. Intensity [Option ID = 20416]

5) Which one of the following is banned in most countries due to its poor energy efficiency?

[Question ID = 5105][Question Description = 105_117_FRM_SEP22_QO05]
. Incandescent bulb [Option ID = 20417]

. Compact Fluorescent light [Option ID = 20418]

. Light Emitting Diode [Option ID = 20419]

. T5 tubelight [Option ID = 20420]
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6) The color system that describes color as hue, value & chroma, is referred to as:

[Question ID = 5106][Question Description = 106_117_FRM_SEP22_Q06]
. Physical colour system [Option ID = 20421]

. Prang colour system [Option ID = 20422]

. Psychological colour system [Option ID = 20423]

. Munsell colour system [Option ID = 20424]
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7) Following should be installed while designing toilets for physically challenged persons:

[Question ID = 5107][Question Description = 107_117_FRM_SEP22_Q07]
. Grab bars [Option ID = 20425]

. Moving bars [Option ID = 20426]

. Slip bars [Option ID = 20427]

. Floor bars [Option ID = 20428]
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8) The continuous line of authority that extends from the upper level of management to the lowest levels of the
organization, is called:

[Question ID = 5108][Question Description = 108_117_FRM_SEP22_Q08]
1. Authority line of responsibility
[Option ID = 20429]
2. Unity of Commerce
[Option ID = 20430]
3. Responsibility factor
[Option ID = 20431]
4. Chain of command [Option ID = 20432]

9) Which famous management thinker was related with the development of "Theory X"?

[Question ID = 5109][Question Description = 109_117_FRM_SEP22_Q09]
1. Douglas McGregor
[Option ID = 20433]
2. Abraham Maslow
[Option ID = 20434]
3. Frederick Herzberg
[Option ID = 20435]
4. Chester Barnard [Option ID = 20436]

10) Concern for employee motivation is most closely associated with which of the following management approach?
[Question ID = 5110][Question Description = 110_117_FRM_SEP22_Q10]
1. Bureaucracy
[Option ID = 20437]
2. Organizational behavior



[Option ID = 20438]
3. Scientific management
[Option ID = 20439]
4. Systems approach [Option ID = 20440]

11) The tool that studies the changes in the output of work over a period of time is:

[Question ID = 5111][Question Description = 111_117_FRM_SEP22_Q11]
1. Peak Load
[Option ID = 20441]
2. Work Curve
[Option ID = 20442]
3. Rest Period
[Option ID = 20443]
4. Process chart [Option ID = 20444]

12) Electromyography is a method used for measuring:

[Question ID = 5112][Question Description = 112_117_FRM_SEP22_Q12]
Fatigue in muscles and bones [Option ID = 20445]

Electric phenomenon occurring in the muscle [Option ID = 20446]

Electric phenomenon occurring in the bones [Option ID = 20447]

Efficiency of tendons and muscles [Option ID = 20448]
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13) Which of the following joineries uses round pegs to fit into corresponding holes?

[Question ID = 5113][Question Description = 113_117_FRM_SEP22_Q13]
1. Miter
[Option ID = 20449]
2. Tongue and groove
[Option ID = 20450]
3. Dowel
[Option ID = 20451]
4. Butt [Option ID = 20452]

14) Which one of the following is a synthetic building material?

[Question ID = 5114][Question Description = 114_117_FRM_SEP22_Q14]
. Wood
[Option ID = 20453]
2. Coir
[Option ID = 20454]
3. Bamboo
[Option ID = 20455]
4. Laminates [Option ID = 20456]

1

15) Which of the following types of values are also known as goal values?

[Question ID = 5115][Question Description = 115_117_FRM_SEP22_Q15]
1. Intrinsic values
[Option ID = 20457]
2. Instrumental values
[Option ID = 20458]
3. Normative values
[Option ID = 20459]
4. Descriptive values [Option ID = 20460]

16) Which of the following lighting fixtures are preferred for mounting on ceilings?
A. Valence lights

B. Suspended lights

C. Pendant lights

D. Sconce lights

Choose the correct answer from the options given below:

[Question ID = 5116][Question Description = 116_117_FRM_SEP22_Q16]
1. B and D only [Option ID = 20461]

2. Band C only [Option ID = 20462]

3. Aand D only



[Option ID = 20463]
4. A and C only [Option ID = 20464]

17) In the context of workplace design, three principles of center arrangement are:

A. Plan and locate the most important centers first

B. Place closely related centers at opposite ends

C. Place closely related centers together

D. Place centers to the left or right of centers with distinctive parts to fit routing of work

Choose the correct answer from the options given below:

[Question ID = 5117][Question Description = 117_117_FRM_SEP22_Q17]
. A, B and C only [Option ID = 20465]

1
2. B, Cand D only [Option ID = 20466]
3. A, B and D only [Option ID = 20467]
4. A, Cand D only [Option ID = 20468]
18) For maximizing use of resources, one must
A. Select goals carefully
B. Nurture a positive attitude towards resource utilization
C. Increase awareness about alternate uses of resources
D. Use scarce resources instead of those readily available

Choose the correct answer from the options given below:

[Question ID = 5118][Question Description = 118_117_FRM_SEP22_Q18]
1. A, B and C only [Option ID = 20469]
2. A, Cand D only [Option ID = 20470]
3. A, Band D only [Option ID = 20471]
4. B, C and D only [Option ID = 20472]

19) Following competencies of a supervisor will lead to effective supervision in an organization:
A. Technical knowledge of tasks

B. Leadership quality

C. Human relation skill

D. Ambiguity in giving instructions to subordinates

Choose the correct answer from the options given below:

[Question ID = 5119][Question Description = 119_117_FRM_SEP22_Q19]
1. B, C and D only [Option ID = 20473]
2. A, B and C only [Option ID = 20474]
3. A, Cand D only
[Option ID = 20475]
4. A, B and D only [Option ID = 20476]

20) In the context of body mechanics, which of the following statements are not true for maintaining a stable center of
gravity?

A. When pushing/pulling loads, force should be applied at the level of center of gravity

B. While lifting loads, the load should be kept close to the body

C. When lifting loads off the ground, one must bend back muscles

D. For complete stability, line of gravity must deviate from the base of support

Choose the correct answer from the options given below:

[Question ID = 5120][Question Description = 120_117_FRM_SEP22_Q20]
1. Aand B only [Option ID = 20477]
2. Cand D only [Option ID = 20478]
3. Aand Conly
[Option ID = 20479]



4. Band C only [Option ID = 20480]

21) The three tier redressal machinery under COPRA consists of the following:
A. State Commission

B. Supreme Court

C. National Commission

D. District Forum

Choose the correct answer from the options given below:

[Question ID = 5121][Question Description = 121_117_FRM_SEP22_Q21]
A, B and C only [Option ID = 20481]
A, B and D only [Option ID = 20482]
B, C and D only [Option ID = 20483]
A, C and D only [Option ID = 20484]
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22) Which of the following statements explains proportion as a principle of design?

A. It refers to the relationship of one part to the whole

B. Square is generally not considered a satisfactory proportion

C. It creates a focal point

D. It is generally applied when planning the dimensions of the room / furniture / any product
Choose the correct answer from the options given below:

[Question ID = 5122][Question Description = 122_117_FRM_SEP22_Q22]
A, B and D only [Option ID = 20485]
A, C and D only [Option ID = 20486]
A, B and C only [Option ID = 20487]
B, C and D only [Option ID = 20488]
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23) Which of the following methods can be used in a room to create the illusion of height?
A. Using light colour on ceiling

B. Using horizontal lines on walls

C. Using dark colour on ceiling

D. Using vertical lines on walls

Choose the correct answer from the options given below:

[Question ID = 5123][Question Description = 123_117_FRM_SEP22_Q23]

1. Band D only

[Option ID = 20489]
2. Aand D only [Option ID = 20490]
3. Aand Conly [Option ID = 20491]
4. A and B only [Option ID = 20492]

24) Which of the following promote energy-efficiency in lighting?
A. Occupancy sensors

B. Incandescent bulbs

C. LED lights

D. T-12 lights

Choose the correct answer from the options given below:

[Question ID = 5124][Question Description = 124_117_FRM_SEP22_Q24]
1. Aand C only [Option ID = 20493]
2. Band D only [Option ID = 20494]
3. Aand D only
[Option ID = 20495]
4. Band C only [Option ID = 20496]



25) Which of the following are credit rating agencies?

A. CRISIL

B. ICRA

C. CARE

D. ICICI

Choose the correct answer from the options given below:

[Question ID = 5125][Question Description = 125_117_FRM_SEP22_Q25]
. A, Band Conly [Option ID = 20497]
A, B and D only [Option ID = 20498]
B, C and D only [Option ID = 20499]
. A, Cand D only [Option ID = 20500]
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26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Leg muscles should be used for lifting loads off the ground instead of back muscles

Reason R : Back muscles are weaker than leg muscles

In light of the above statements, choose the correct answer from the options given below

[Question ID = 5126][Question Description = 126_117_FRM_SEP22_Q26]
Both A and R are true and R is the correct explanation of A [Option ID = 20501]

Both A and R are true but R is NOT the correct explanation of A [Option ID = 20502]

. Ais true but R is false [Option ID = 20503]

. Ais false but R is true [Option ID = 20504]
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27) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : In context of functional storage, unlike items should not be stacked one on top of the other.
Reason R : It is difficult to access unlike items kept at the bottom of a stack without moving other items first.
In light of the above statements, choose the correct answer from the options given below

[Question ID = 5127][Question Description = 127_117_FRM_SEP22_Q27]
Both A and R are true and R is the correct explanation of A [Option ID = 20505]

Both A and R are true but R is NOT the correct explanation of A [Option ID = 20506]

. Ais true but R is false [Option ID = 20507]

. Ais false but R is true [Option ID = 20508]
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28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Sofas are long upholstered units which can accommodate only one person.

Reason R : Sofa-cum-beds can be used for both sleeping and sitting.

In light of the above statements, choose the correct answer from the options given below

[Question ID = 5128][Question Description = 128_117_FRM_SEP22_Q28]
Both A and R are true and R is the correct explanation of A [Option ID = 20509]

Both A and R are true but R is NOT the correct explanation of A [Option ID = 20510]

. Ais true but R is false [Option ID = 20511]

. Ais false but R is true [Option ID = 20512]
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29) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Sheer curtains should always be hung on the lower part of the window.

Reason R : Sheer curtains filter light, give softness to the room and provide daytime privacy.

In light of the above statements, choose the correct answer from the options given below

[Question ID = 5129][Question Description = 129_117_FRM_SEP22_Q29]
1. Both A and R are true and R is the correct explanation of A [Option ID = 20513]

2. Both A and R are true but R is NOT the correct explanation of A [Option ID = 20514]
3. Ais true but R is false [Option ID = 20515]

4. Ais false but R is true [Option ID = 20516]

30) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R



Assertion A : Unity of command promotes clarity in instruction and avoids conflict and chaos.
Reason R : Receiving orders from one superior is better than receiving orders from several superiors.
In light of the above statements, choose the correct answer from the options given below

[Question ID = 5130][Question Description = 130_117_FRM_SEP22_Q30]
1. Both A and R are true and R is the correct explanation of A [Option ID = 20517]

2. Both A and R are true but R is NOT the correct explanation of A [Option ID = 20518]
3. Ais true but R is false [Option ID = 20519]

4. Ais false but R is true [Option ID = 20520]

31) Match List | with List Il

List | List Il
IMuscle Action Examples of Muscle Action
A. Ballistic movement I. Contraction of flexors and extensors
B. Fixed movement Il. Shoulder joint
C. Static contraction lll. Antagonistic muscles
D. Flexers and Extensors IV. Elbow joints
V. Lifting of an immovable object

Choose the correct answer from the options given below:

[Question ID = 5131][Question Description = 131_117_FRM_SEP22_Q31]
A-1I,B-1Il,C-IV,D-V[Option ID = 20521]

A-1,B-1l,C-1ll, D - IV [Option ID = 20522]

A-1l,B-1V,C-V,D-Ill [Option ID = 20523]

A-V,B-1ll,C-1l,D - [Option ID = 20524]
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32) Match List | with List I

List | List Il

Types of Advertising Description of Types of Advertising

A. Inf i isi . . . .
nformative advertising I. aims to convince current purchasers that they have made the right choice

Il. aims to create brand awareness and knowledge of new products or new features of

B. Persuasive advertising .
existing products

C. Reinforcement advertising . o . .
Ill. aims to create liking, preference, conviction and purchase of a new product or service

D. Reminder advertising IV. aims to stimulate repeat purchase of products and services

Choose the correct answer from the options given below:

[Question ID = 5132][Question Description = 132_117_FRM_SEP22_Q32]
A-1V,B-1,C-1ll, D- Il [Option ID = 20525]
A-1ll,B-1V, C-1l,D-I[Option ID = 20526]
A-1l,B-1l,C-1,D-1V[Option ID = 20527]
A-1,B-1V,C-1ll,D- Il [Option ID = 20528]
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33) Match List | with List Il

List | List Il

Tools of Time ManagementDescription of Tools of Time Management

A. Rest Period I. Relaxing in between activities such as music, lying down, etc.

B. Work Curve Il. Graph showing the level of performance against time spent at work
C. Time plan Ill. To do list/ list of jobs

D. Workload IV. Peak load

Choose the correct answer from the options given below:

[Question ID = 5133][Question Description = 133_117_FRM_SEP22_Q33]
A-11,B-1l,C-1V,D-1[Option ID = 20529]
A-1l,B-1,C-Ill, D - IV [Option ID = 20530]
A-1V,B-1ll,C-1,D-Il[Option ID = 20531]
A-1,B-1l,C-1ll, D - IV [Option ID = 20532]
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34) Match List | with List Il




List | List Il
Types of Income Examples of Types of Income

A. Money income |l. Sick leave benefits
B. Elastic income [ll. Salary
C. Wealth lll. Installment purchase

D. Fringe benefits [IV. Property
Choose the correct answer from the options given below:

[Question ID = 5134][Question Description = 134_117_FRM_SEP22_Q34]
A-1,B-1l,C-1l,D- IV [Option ID = 20533]
A-1l,B-1ll,C-1V, D - [Option ID = 20534]
A-1l,B-1I,C-1,D-1V[Option ID = 20535]
A-1l,B-1V,C-1,D-Ill [Option ID = 20536]
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35) Match List | with List Il

List | List Il

Purchase Decisions  |Activities Describing Purchase Decisions

A. When to buy I. Selection of the article that best satisfies a particular want of the consumer
B. What to buy Il. Purchasing of goods from local market

C. What price to pay [lll. Purchasing items for immediate use when future needs are not very clear
D. Where to buy IV. Reasonable charge for the quantity of goods

Choose the correct answer from the options given below:

[Question ID = 5135][Question Description = 135_117_FRM_SEP22_Q35]
A-1ll,B-1,C-1V,D- Il [Option ID = 20537]
A-1ll,B-1,C-1l,D -1V [Option ID = 20538]
A-1ll,B-1V,C-1l,D-1[Option ID = 20539]
A-1,B -1V, C-lll, D - Il [Option ID = 20540]
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36) Match List | with List Il

List | List Il

Four C's of Credit Description of Four C's of Credit

A. Character I. Ability to pay

B. Capital Il. Desire to pay

C. Capacity lll. Money and securities owned

D. Collateral IV. Assets pledged for a loan or credit

Choose the correct answer from the options given below:

[Question ID = 5136][Question Description = 136_117_FRM_SEP22_Q36]
A-1,B-1V,C-1l,D-Ill [Option ID = 20541]
A-1l,B-1ll, C-1,D-IV[Option ID = 20542]
A-1I,B-1V,C-IlI,D - [Option ID = 20543]
A-1,B-1IV,C-1ll, D- Il [Option ID = 20544]
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37) Match List | with List Il

List | List Il
Types of Families Life Cycle Stages of Differnt Types of Families
A. Normal nuclear family |. Expanding stage continues
B. Childless family Il. Beginning, expanding and contracting family
C. Joint family Ill. Expanding and contracting stage
D. Extended family IV. Beginning stage with expanding stage

V. Beginning stage continues

Choose the correct answer from the options given below:

[Question ID = 5137][Question Description = 137_117_FRM_SEP22_Q37]

1. A-1,B-1I, C-1ll, D -V [Option ID = 20545]
2. A-11,B-V, C-1,D - lll [Option ID = 20546]
3. A-1,B-1ll, C-1lI,D- IV [Option ID = 20547]
4. A-1,B-1V, C-1ll, D -V [Option ID = 20548]

38) Match List | with List I

IList | IList 11




Theorists Theories of Management

A. McClelland I. Theory of human needs

B. Douglas McGregor Il. Three needs theory

C. Abraham Maslow lll. Motivation-hygiene theory
D. Frederick Herzberg IV. Theory X and theory Y

Choose the correct answer from the options given below:

[Question ID = 5138][Question Description = 138_117_FRM_SEP22_Q38]
A-1l,B-1l,C-1,D-1V[Option ID = 20549]
A-1IV,B-1l,C-1,D-Ill [Option ID = 20550]
A-1l,B-1V,C-1,D-Ill [Option ID = 20551]
A-11,B-1V,C-1,D-Il[Option ID = 20552]
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39) Match List | with List Il

List | List Il
Classification of Resources Examples of Resources
A. Individual resource I. House
B. Family resource Il. Museum
C. Community resource lll. Air
D. Environmental resources IV. Energy
V. Competency

Choose the correct answer from the options given below:

[Question ID = 5139][Question Description = 139_117_FRM_SEP22_Q39]
A-1IV,B -1, C-1ll, D-V[Option ID = 20553]

A-1,B-1l,C-1ll, D-V [Option ID = 20554]

A-IV,B-1,C-Il,D-V[Option ID = 20555]

A-V,B-1,C-IllIl,D-IV[Option ID = 20556]
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40) Match List | with List Il

List | List Il

Principles of Management |Description of Principles of Management

A. Unity of command |. Extent to which authority is concentrated or dispensed with
B. Remuneration Il. Receiving orders from one superior only

C. Unity of direction lll. Price for services rendered by employees

D. Centralisation IV. One type of activity should be directed by one head only

Choose the correct answer from the options given below:

[Question ID = 5140][Question Description = 140_117_FRM_SEP22_Q40]
A-11,B-1ll,C-1V,D-1[Option ID = 20557]
A-1V,B -1, C-Il,D - I [Option ID = 20558]
A-1V,B-1ll,C-1,D -1l [Option ID = 20559]
A-1l,B-1ll,C-1,D- IV [Option ID = 20560]

AW N =

41) Arrange the buying decision process in correct sequence:
A. Purchase decision

B. Problem recognition

C. Evaluation of alternatives

D. Post purchase behavior

E. Information search

Choose the correct answer from the options given below

[Question ID = 5141][Question Description = 141_117_FRM_SEP22_Q41]
1. A, B, C, D, E [Option ID = 20561]
2. B, A, C, D, E [Option ID = 20562]
3. B, E, C, A, D [Option ID = 20563]
4. C, B, A, D, E [Option ID = 20564]

[ Eas]

42) Arrange the following in the correct sequence of needs given by Abraham M. Maslow, starting with the lowest level
needs.



A. Social needs

B. Self-esteem needs

C. Self-actualization

D. Physiological needs

E. Safety and security needs

Choose the correct answer from the options given below

[Question ID = 5142][Question Description = 142_117_FRM_SEP22_Q42]
1. A, B, C, D, E [Option ID = 20565]
2. D, E, A, B, C [Option ID = 20566]
3. ALC,B,D, E
[Option ID = 20567]
4. D, A, E, B, C [Option ID = 20568]
43) Arrange the following steps of Human Resource Planning (HRP) process in the correct sequence:
A. Environmental scanning
B. HR needs and supply forecasting
C. HRP implementation
D. HR programming
E. Control & evaluation of programme

Choose the correct answer from the options given below

[Question ID = 5143][Question Description = 143_117_FRM_SEP22_Q43]
1. A,B,C, D, E
[Option ID = 20569]
2. E, D, B, C, A [Option ID = 20570]
3. A, C, B, D, E [Option ID = 20571]
4. A, B, D, C, E [Option ID = 20572]
44) Arrange the following steps in house planning in sequential order
A. List the number of rooms to be planned to accommodate important activities
B. Select the plot size for construction
C. Assess the space requirement according to activities of occupants
D. Examine the uninterrupted easy and independent access to each part of the house
E. Locate the rooms on the plot area

Choose the correct answer from the options given below

[Question ID = 5144][Question Description = 144_117_FRM_SEP22_Q44]
1. A, B, C, D, E [Option ID = 20573]
2. A, B, E, C, D [Option ID = 20574]
3. AC,D,B, E
[Option ID = 20575]
4. B, C, A, E, D [Option ID = 20576]
45) Arrange the following structural aspects of house construction as per the sequential order:
A. Flooring
B. Walls
C. Plastering
D. Foundation
E. Roofing

Choose the correct answer from the options given below

[Question ID = 5145][Question Description = 145_117_FRM_SEP22_Q45]
1. A,B,C,D, E



[Option ID = 20577]
2. D,B,EC,A

[Option ID = 20578]
3. AC,D,B,E

[Option ID = 20579]
4. B,C,AE, D

[Option ID = 20580]

46) Given below are two statements
Statement I: A budget can make an inadequate income adequate.

Statement Il: It is possible to prioritize expenditure by making budget.
In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = 5146][Question Description = 146_117_FRM_SEP22_Q46]
Both Statement | and Statement Il are correct [Option ID = 20581]

Both Statement | and Statement Il are incorrect [Option ID = 20582]

Statement | is correct but Statement Il is incorrect [Option ID = 20583]

Statement | is incorrect but Statement Il is correct [Option ID = 20584]

AW N =

47) Given below are two statements

Statement I: Renewable resources may become non-renewable if they are used faster than nature can replenish them.

Statement Il: Carbon footprint of renewable energy resources is lower than non-renewable.
In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = 5147][Question Description = 147_117_FRM_SEP22_Q47]
Both Statement | and Statement Il are correct [Option ID = 20585]

Both Statement | and Statement Il are incorrect [Option ID = 20586]

Statement | is correct but Statement Il is incorrect [Option ID = 20587]

Statement | is incorrect but Statement Il is correct [Option ID = 20588]

A wWw N =

48) Given below are two statements
Statement I: Qualitative standards can also be referred to as subjective standards.

Statement II: Standards are qualitative as well as quantitative.

In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = 5148][Question Description = 148_117_FRM_SEP22_Q48]
Both Statement | and Statement Il are correct [Option ID = 20589]

Both Statement | and Statement Il are incorrect [Option ID = 20590]

. Statement | is correct but Statement Il is incorrect [Option ID = 20591]

Statement | is incorrect but Statement Il is correct [Option ID = 20592]

A W N -

49) Given below are two statements
Statement I: Body mechanics is a social science dealing with body forces, motions and feelings.

Statement Il: Body mechanics is a component of temporal aspect.

In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = 5149][Question Description = 149_117_FRM_SEP22_Q49]
Both Statement | and Statement Il are correct [Option ID = 20593]

Both Statement | and Statement Il are incorrect [Option ID = 20594]

Statement | is correct but Statement Il is incorrect [Option ID = 20595]

Statement | is incorrect but Statement Il is correct [Option ID = 20596]

A W N -

50) Given below are two statements
Statement I: One of the prominent features of Queen Anne furniture is ‘S’ curve.

Statement Il: Queen Anne furniture is contemporary.
In light of the above statements, choose the most appropriate answer from the options given below

[Question ID = 5150][Question Description = 150_117_FRM_SEP22_Q50]
1. Both Statement | and Statement Il are correct [Option ID = 20597]
2. Both Statement | and Statement Il are incorrect [Option ID = 20598]



3. Statement | is correct but Statement Il is incorrect [Option ID = 20599]
4. Statement | is incorrect but Statement Il is correct [Option ID = 20600]





